Algebra 2







Name: _________________________

Unit 4, Day 1







Date: _______________ Period: ____

Translate Parabolas 
Part 1:  Graph the following parabolas using a graphing calculator.  Record any observations you notice about the similarities and differences of each parabola with the parent graph, 
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	PARENT GRAPH:  
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Observations: _____________________________

_________________________________________
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Observations: _____________________________

_________________________________________
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Observations: _____________________________

_________________________________________




	Conclusions:  The general equation of parabolas is ______________________________.

Describe what h does to the equation: 

________ shifts the graph to the ____________.            ________ shifts the graph to the ____________.




Practice #1:  WITHOUT using a graphing calculator, graph the following parabolas using the patterns you previous discovered.  Be sure to identify the vertex.
	a)  
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Shift the parent graph _________ units _________. 
Vertex: _________



	b)  
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Shift the parent graph _________ units _________. 

Vertex: _________




	c)  
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Shift the parent graph _________ units _________. 

Vertex: _________



	d)  
[image: image9.wmf](

)

2

8

-

=

x

y


Shift the parent graph _________ units _________. 

Vertex: _________





Part 2:  Graph the following parabolas using a graphing calculator.  Record any observations you notice about the similarities and differences of each parabola with the parent graph, 
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Observations: _____________________________

_________________________________________
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Observations: _____________________________

_________________________________________
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Observations: _____________________________

_________________________________________
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Observations: _____________________________

_________________________________________




	Conclusions:  Given that the general equation of parabolas is 
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describe what k does to the equation: 

______ shifts the graph ____________.            ______ shifts the graph ____________.

Put it together:             
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Practice #2:  WITHOUT using a graphing calculator, graph the following parabolas using the patterns you previous discovered.  Identify the types of translation, and be sure to identify the vertex.

	a)  
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Horizontal shift: _____________

Vertical Shift: _______________

Vertex: _________
	b)  
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Horizontal shift: _____________

Vertical Shift: _______________

Vertex: _________
	c)  
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Horizontal shift: _____________

Vertical Shift: _______________

Vertex: _________

	

	
	

	d)  
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Horizontal shift: _____________

Vertical Shift: _______________

Vertex: _________
	e)  
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Horizontal shift: _____________

Vertical Shift: _______________

Vertex: _________
	f)  
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Horizontal shift: _____________

Vertical Shift: _______________

Vertex: _________

	

	
	

	g)  
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Horizontal shift: _____________

Vertical Shift: _______________

Vertex: _________
	h)  
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Horizontal shift: _____________

Vertical Shift: _______________

Vertex: _________
	i)  
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Horizontal shift: _____________

Vertical Shift: _______________

Vertex: _________
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